112 FX§ >2FMHBERF R

w ==> R2

#1: 11 REZ5(37.5) #2: 13 LEI(ZS 13) #3 4 IJ_I/E(ZS 95)

1 NS: FRBCE ZI3c#t(BH0) -4 3 NS: R EE sRIZZE(BAC) 2 9.14 10.86 | Total VP: 19.14 Rank:
EW: BEEISZ F2EIEAC) -2 EW: KB LR % (BHO) 4 IMP:| 22 24 7
— -
#9 85 3SE3 -140 Mean: 4HW-4 400 110 1 [[# 10 s A95 3DW3 -110 Mean: 3NW-2 200 7.0 1
v Q2 5DXN-2 -300 -150 4SE-2 200 80 1 v KT962 3NW-2200 -80  3NE-1 100 50 1
+ KJT864 Dif: 160 NS:0 5SE-1 100 6.0 1 + KQ8 Dif: -310 NS:-1  2NW-1 100 50 3
» QT8 IMP: 4 EW:4 4SE-1 100 6.0 1 » Q8 IMP: -7 EW:-7 2DE2 90 00 1
s T93 » AQJ764 3SE3 140 00 1 ||s 43 » KQJ8 2CW2 -90 00 1
v KJ96 v T8 2SE3 140 00 1 ||w J874 _I_ v A5 3DW3 110 1.0 2
7 — ¢ Q32 3SE4 170 1.0 3 ||e A732 + T965 2NW2 120 1.0 1
& AJ643 » K7 2SE4 470 1.0 1 ||a AK3 # J65 2NW3 150 20 1
*IVAN 4K2 5DXN-2  -300 -40 1 *OVABN 4 T762 2NE3 4150 20 1
N ~2 ~~~ ¢ A7543 5DXN-3  -500 8.0 1 [|N ~~~~~ v Q3 2CN-3 300 -6.0 1
S ~2~~~ ¢A9% 4SE4 620 100 2 ||S ~ ~~~~ J4 3NE3 600 -11.0 1
E 3~~4~ #0952 E ~3~~2 &T9742
W 3~~4-~ W ~3~~2
# 11 & T9543 3HE-2100 Mean: 4NXW-3 500 100 1 ||# 12 a3 3NS7 720 Mean: 7NS7 2220 17.0 1
v9 3CN4130 40  4CXN4 510 10.0 1 v 972 7NS-1-100 600 6SS6 1430 130 1
+ A8 Dif: -30 NS:2 4HXW-2 300 6.0 1 ¢ KJT9 Dif: 820 NS:3 6NS7 1470 130 1
& AQJ52 IMP: -1 EW:-3 3CN5 150 3.0 1 & AQ752 IMP: 13 EW:12 6NS6 1440 130 1
» K87 ~ AQJ6 3CN4 130 3.0 1 ||a2 ~ T9875 3NS7 720 3.0 3
v QJT853 v 74 3HE-2 100 20 1 || J653 v QT8 3NS6 690 3.0 1
¢ T96 + KQ54 2SN-1 -50 3.0 1 ¢ 8752 + Q643 7581 -100 -12.0 1
a7 » KT6 2SN-2 100 -40 1 ||a& JT93 a8 7NS-1 100 120 1
®OVAN 4,2 2HE2 110 -40 1 % ¢ VAN 4 AKQJ64 7NN-1 100 -12.0 1
N 4 ~ ~ ~ ~ ¢ AK62 3HW3 140 50 1|IN 6 ~~66 v AK4 7NS-2 200 130 2
S 3~~~ ~ ¢J732 3HE3 140 50 2||S 6~~66 ¢A 7NN-2 200 -13.0 1
E ~~11~ #9843 2HW3 140 50 1
W~~11~ 2SN-4 200 -6.0 1
#13 a7 4SW-1 100 Mean: 4SXW-1 200 3.0 1 # 14 & AT94 4HW4 -420 Mean: 4HW4 420 00 3
v AT743 4SXW-1200 110  2HN3 140 1.0 1 v KJ 4HE4 -420 -420  4HE4 420 00 7
+ AK54 Dif: -100 NS:0 4SW-1 100 0.0 11 + Q8 Dif: 0 NS:0 3NE4 430 0.0 1
» 964 IMP: -3 EW:-3 4SE-1 100 00 1 & QT762 IMP: 0 EW:0 4HW5 450 1.0 2
# T9652 \ & AQJ3 s 32 » KQJ 3NW5 -460 1.0 1
v J2 v KQ v A63 v Q9874
°T7 + * J932 + AK5  T74
& KQ82 » AJ5 & AJ943 » K8
oo VAN 4o K84 o ¢ VAN 4, 8765
N ~11~~ »9865 N ~~~~~ T52
S ~11~~ +Q86 S ~~~~~ o J9632
E 3~~3~ &T73 E 3~4~4 &5
W 3~~3~ W 3~4~4
# 15 » 543 1CXS-3 -800 Mean: 1NS1 90 60 2 ||#16 & KT852 2SE-1 100 Mean: 2CXN3 280 8.0 1
v 9874 1NS190 -160  3NW-1 50 50 1 v T2 2DW2-90 -60  3DE-2 200 6.0 1
¢+ A74 Dif: -890 NS:-12 2DE2 90 20 1 T Dif: 190 NS:4 2SE-1 100 40 2
& 965 IMP: -13 EW:-6 1NS-1 4100 20 1 & 76543 IMP: 5 EW:1  1HW-1 100 40 1
& AT76 ~ 982 1NE1 90 20 1 ||aAJ ~ Q9643 3NS-1 50 00 1
v K652 vJ 1HS-1 4100 20 1 ||e KJ973 — v6 3CS-1 50 0.0 1
* QJ3 + K652 1HN-1 100 20 1 ||e A753 * J964 2CN-1 50 00 1
& KT » AJ743 2sW3 4140 1.0 1 ||s Q8 » KJ2 2DW2 9 1.0 1
eV AN ,KQJ 1NE2 4120 1.0 1 FOVAN o7 2DW4 4130 20 1
N ~~~~~ v AQT3 2HS-2 200 10 1[N 2~~~ ~ o AQ854 2DW3 410 20 1
S ~~~~~ ¢ T98 3HN-3 300 -40 1||S 2~~~ ~ ¢ KQ82 2SN-3 150 -3.0 1
E 33~31 Q82 2HXS-2 500 -80 1||E ~2~11 &AT9 3CXN-2 300 -6.0 1
W 33~31 1CXS-3 800 120 1 ||wW ~2~11 3NXS-4 800 -12.0 1




2 122 ¥~ & >ABERFE 2R E == R 2

#1: 11 REZ5(37.5) #2: 13 LEI(ZS 13) #3: 4 IJ_I/E(ZS 95)

2 NS: SRAHE Z=$EER(EHO) 21 5 NS: Einit BRZE(BAC) 8 P:{10.86 : 9.14 | Total VP: 20.86 Rank:
EW: M BUE S5EEEAC) -8 EW: [RE3 2% (BO) -2 IMP:) 20 : 18 5
— -
#9 85 2SE4 -170 Mean: 4HW-4 400 110 1 [[# 10 s A95 2NE3 -150 Mean: 3NW-2 200 7.0 1
v Q2 5DXN-3 -500 -150 4SE-2 200 80 1 v KT962 2NW3 -150 -80  3NE-1 100 50 1
+ KJT864 Dif: 330 NS:-1 5SE-1 100 6.0 1 + KQ8 Dif: 0 NS:-2 2NW-1 100 50 3
» QT8 IMP: 8 EW:8 4SE-1 100 6.0 1 » Q8 IMP: 0 EW:2 2DE2 90 00 1
s T93 » AQJ764 3SE3 140 00 1 ||s 43 » KQJ8 2CW2 -90 00 1
v KJ96 v T8 2SE3 140 00 1 ||v J874 _I_ v A5 3DW3 110 1.0 2
7 — ¢ Q32 3SE4 170 1.0 3 ||e A732 + T965 2NW2 120 1.0 1
& AJ643 » K7 2SE4 470 1.0 1 ||a AK3 # J65 2NW3 150 20 1
*IVAN 4K2 5DXN-2  -300 -40 1 *OVABN 4 T762 2NE3 4150 20 1
N ~2 ~~~ ¢ A7543 5DXN-3  -500 8.0 1 [|N ~~~~~ v Q3 2CN-3 300 -6.0 1
S ~2~~~ ¢A9% 4SE4 620 100 2 ||S ~~~~~ ¢ J4 3NE3 600 -11.0 1
E 3~~4~ #0952 E ~3~~2 &T9742
W 3~~4-~ W ~3~~2
# 11 & T9543 4NXW-3 500 Mean: 4NXW-3 500 10.0 1 ||# 12 a3 6SS6 1430 Mean: 7NS7 2220 17.0 1
v9 3HE3 -140 40  4CXN4 510 10.0 1 v 972 7NS7 2220 600  6SS6 1430 130 1
+ A8 Dif: 640 NS:10 4HXW-2 300 6.0 1 ¢ KJT9 Dif: -790 NS:13 6NS7 1470 130 1
& AQJ52 IMP: 12 EW:5 3CN5 150 3.0 1 & AQ752 IMP: -13 EW:-17 6NS6 1440 130 1
» K87 ~ AQJ6 3CN4 130 3.0 1 ||a2 ~ T9875 3NS7 720 3.0 3
v QJT853 v 74 3HE-2 100 20 1 || J653 v QT8 3NS6 690 3.0 1
¢ T96 + KQ54 2SN-1 -50 3.0 1 ¢ 8752 + Q643 7581 -100 -12.0 1
a7 » KT6 2SN-2 100 -40 1 ||a& JT93 a8 7NS-1 100 120 1
®OVAN 4,2 2HE2 110 -40 1 % ¢ VAN 4 AKQJ64 7NN-1 100 -12.0 1
N 4 ~ ~ ~ ~ ¢ AK62 3HW3 140 50 1|IN 6 ~~66 v AK4 7NS-2 200 130 2
S 3~~~ ~ ¢J732 3HE3 140 50 2||S 6~~66 ¢A 7NN-2 200 -13.0 1
E ~~11~ #9843 2HW3 140 50 1
W~~11~ 2SN-4 200 -6.0 1
#13 a7 4SW-1 100 Mean: 4SXW-1 200 3.0 1 # 14 & AT94 4HE4 -420 Mean: 4HW4 420 00 3
v AT743 4SW-1100 110  2HN3 140 1.0 1 v KJ 4HW4 -420 -420 4HE4 420 00 7
+ AK54 Dif: 0 NS:0 4Sw-1 100 0.0 11 + Q8 Dif: 0 NS:0 3NE4 430 0.0 1
» 964 IMP: 0 EW:0 4SE-1 100 00 1 & QT762 IMP: 0 EW:0 4HW5 450 1.0 2
# T9652 ] & AQJ3 s 32 » KQJ 3NW5 -460 1.0 1
v J2 v KQ v A63 v Q9874
°T7 + * J932 + AK5  T74
& KQ82 » AJ5 & AJ943 » K8
oo VAN 4o K84 o ¢ VAN 4, 8765
N ~11~~ 99865 N ~~~~~ v T52
S ~11~~ +Q86 S ~~~~~ o J9632
E 3~~3~ &T73 E 3~4~4 &5
W 3~~3~ W 3~4~4
# 15 » 543 2SW3 -140 Mean: 1NS1 90 60 2 ||#16 & KT852 3NS-1-50 Mean: 2CXN3 280 8.0 1
v 9874 1NS-1-100 -160  3NW-1 50 50 1 v T2 2SE-1 100 -60  3DE-2 200 6.0 1
¢ A74 Dif: -40 NS:1 2DE2 90 20 1 T Dif: -150 NS:0 2SE-1 100 40 2
& 965 IMP: -1 EW:-2 1NS-1 4100 20 1 & 76543 IMP: -4 EW:-4 1HW-1 100 40 1
& AT76 ~ 982 1NE1 90 20 1 ||aAJ ~ Q9643 3NS-1 50 00 1
v K652 vJ 1HS-1 4100 20 1 ||e KJ973 — v6 3CS-1 50 0.0 1
* QJ3 + K652 1HN-1 100 20 1 ||e A753 * J964 2CN-1 50 00 1
& KT » AJ743 2sW3 4140 1.0 1 ||s Q8 » KJ2 2DW2 9 1.0 1
eV AN ,KQJ 1NE2 4120 1.0 1 FOVAN o7 2DW4 4130 20 1
N ~~~~~ v AQT3 2HS-2 200 10 1[N 2~~~ ~ o AQ854 2DW3 410 20 1
S ~~~~~ ¢ T98 3HN-3 300 -40 1||S 2~~~ ~ ¢ KQ82 2SN-3 150 -3.0 1
E 33~31 Q82 2HXS-2 500 -80 1||E ~2~11 &AT9 3CXN-2 300 -6.0 1
W 33~31 1CXS-3 800 120 1 ||wW ~2~11 3NXS-4 800 -12.0 1
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#1: 11 REZ5(37.5) #2: 13 LEI(ZS 13) #3 4 IJ_I/E(ZS 95)

3 NS: bRELRE TREZ(EHC) 2 1 NS: SRESE 213X (F0) -4 10.86 : 9.14 | Total VP: 16.18 Rank:
EW: BRS2IE 40 iﬁ(l’;ﬁO) 4 EW: BREISC E#2E(BAC) -2 IMP:| 24 22 1
-
#9 85 35E3 140 Mean: 4HW-4 400 110 1 [[# 10 s A95 3DW3 110 Mean: 3NW-2 200 7.0 1
v Q2 5DXN-2 300 -150 4SE-2 200 80 1 v KT962 3NW-2 -200 -80  3NE-1 100 50 1
+ KJT864 Dif: -160 NS:-4 5SE-1 100 6.0 1 + KQ8 Dif: 310 NS:7 2NW-1 100 50 3
» QT8 IMP: -4 EW:0 4SE-1 100 6.0 1 » Q8 IMP: 7 EW:1 2DE2 90 00 1
s T93 » AQJ764 3SE3 140 00 1 ||s 43 » KQJ8 2CW2 -90 00 1
v KJ96 v T8 2SE3 140 00 1 ||v J874 _I_ v A5 3DW3 110 1.0 2
7 — ¢+ Q32 3SE4 470 1.0 3 ||e A732 * T965 2NW2 120 1.0 1
& AJ643 » K7 2SE4 470 1.0 1 ||a AK3 # J65 2NW3 150 20 1
*IVAN 4K2 5DXN-2  -300 -40 1 *OVABN 4 T762 2NE3 4150 20 1
N ~2 ~~~ ¢ A7543 5DXN-3  -500 8.0 1 [|N ~~~~~ v Q3 2CN-3 300 -6.0 1
S ~2~~~ ¢A9% 4SE4 620 100 2 ||S ~ ~~~~ J4 3NE3 600 -11.0 1
E 3~~4~ #0952 E ~3~~2 &T9742
W 3~~4-~ W ~3~~2
# 11 a T9543 3HE-2 -100 Mean: 4NXW-3 500 100 1 [[|# 12 a3 3NS7 -720 Mean: 7NS7 2220 170 1
v9 3CN4 -130 40  4CXN4 510 10.0 1 v 972 7NS-1100 600  6SS6 1430 130 1
+ A8 Dif: 30 NS:3 4HXW-2 300 6.0 1 ¢ KJT9 Dif: -820 NS:-12 6NS7 1470 130 1
& AQJ52 IMP: 1 EW:-2 3CN5 150 3.0 1 & AQ752 IMP: -13 EW:-3 6NS6 1440 130 1
» K87 ~ AQJ6 3CN4 130 3.0 1 ||a2 ~ T9875 3NS7 720 3.0 3
v QJT853 v 74 3HE-2 100 20 1 || J653 v QT8 3NS6 690 3.0 1
¢ T96 + KQ54 2SN-1 -50 3.0 1 ¢ 8752 + Q643 7581 -100 -12.0 1
a7 » KT6 2SN-2 100 -40 1 ||a& JT93 a8 7NS-1 100 120 1
®OVAN 4,2 2HE2 110 -40 1 % ¢ VAN 4 AKQJ64 7NN-1 100 -12.0 1
N 4 ~ ~ ~ ~ ¢ AK62 3HW3 140 50 1|IN 6 ~~66 v AK4 7NS-2 200 130 2
S 3~~~ ~ ¢J732 3HE3 140 50 2||S 6~~66 ¢A 7NN-2 200 -13.0 1
E ~~11~ #9843 2HW3 140 50 1
W~~11~ 2SN-4 200 -6.0 1
#13 a7 4SW-1-100 Mean: 4SXW-1 200 3.0 1 # 14 & AT94 4HW4 420 Mean: 4HW4 420 00 3
v AT743 4SXW-1-200 110  2HN3 140 1.0 1 v KJ 4HE4 420 -420  4HE4 420 00 7
+ AK54 Dif: 100 NS:3  4sw-1 100 0.0 11 + Q8 Dif: 0 NS:0 3NE4 430 0.0 1
» 964 IMP: 3 EW:0 4SE-1 100 00 1 & QT762 IMP: 0 EW:0 4HW5 450 1.0 2
# T9652 ] » AQJ3 s 32 » KQJ 3NW5 -460 1.0 1
v J2 v KQ v A63 v Q9874
°T7 + * J932 + AK5  T74
& KQ82 » AJ5 & AJ943 » K8
oo VAN 4o K84 o ¢ VAN 4, 8765
N ~11~~ »9865 N ~~~~~ T52
S ~11~~ +Q86 S ~~~~~ + J9632
E 3~~3~ &T73 E 3~4~4 &5
W 3~~3~ W 3~4~4
# 15 » 543 1CXS-3 800 Mean: 1NS1 90 60 2 ||#16 & KT852 2SE-1-100 Mean: 2CXN3 280 8.0 1
v 9874 1NS1-90 -160 3NW-1 50 50 1 v T2 2DW290 -60  3DE-2 200 6.0 1
¢ A74 Dif: 890 NS:6 2DE2 90 20 1 T Dif: -190 NS:-1 2SE-1 100 40 2
& 965 IMP: 13 EW:12 1NS-1 4100 20 1 & 76543 IMP: -5 EW:-4 1HW-1 100 40 1
& AT76 ~ 982 1NE1 90 20 1 ||aAJ ~ Q9643 3NS-1 50 00 1
v K652 vJ 1HS-1 4100 20 1 ||e KJ973 — v 6 3CS-1 50 0.0 1
* QJ3 + K652 1HN-1 100 20 1 ||e A753 * J964 2CN-1 50 00 1
& KT » AJ743 2sW3 4140 1.0 1 ||s Q8 » KJ2 2DW2 9 1.0 1
eV AN ,KQJ 1NE2 4120 1.0 1 FOVAN o7 2DW4 4130 20 1
N ~~~~~ v AQT3 2HS-2 200 10 1[N 2~~~ ~ o AQ854 2DW3 410 20 1
S ~~~~~ ¢ T98 3HN-3 300 -40 1||S 2~~~ ~ ¢ KQ82 2SN-3 150 -3.0 1
E 33~31 Q82 2HXS-2 500 -80 1||E ~2~11 &AT9 3CXN-2 300 -6.0 1
W 33~31 1CXS-3 800 120 1 ||wW ~2~11 3NXS-4 800 -12.0 1




112 FX§ >2FMHBERF R

w ==> R2

#1: 11 REZ5(37.5) #2: 13 LEI(ZS 13) #3 4 IJ_I/E(ZS 95)

4 NS: £2#5% ESEREGIO) -1 7 NS: GBigE{E RiEHE(BAC) -7 11.27 : 8.73 | Total VP: 25.95 Rank:
EW: &L BE] g([%ﬁC) 7 EW: ZE1{_ FRE#E(BAO) 1 IMP:| 23 20 3
#9 85 4SE-1 100 Mean: 4HW-4 400 110 1 [[# 10 s A95 2CN-3 -300 Mean: 3NW-2 200 7.0 1
v Q2 3SE4 -170 -150  4SE-2 200 80 1 v KT962 2NW-1100 -80  3NE-1 100 50 1
+ KJT864 Dif: 270 NS:6 5SE-1 100 6.0 1 + KQ8 Dif: -400 NS:-6 2NW-1 100 50 3
» QT8 IMP: 7 EW:1 4SE-1 100 6.0 1 » Q8 IMP: -9 EW:-5 2DE2 90 00 1
s T93 » AQJ764 3SE3 140 00 1 ||s 43 » KQJ8 2CW2 -90 00 1
v KJ96 v T8 2SE3 140 00 1 ||v J874 _I_ v A5 3DW3 110 1.0 2
7 — ¢ Q32 3SE4 170 1.0 3 ||e A732 + T965 2NW2 120 1.0 1
& AJ643 » K7 2SE4 470 1.0 1 ||a AK3 # J65 2NW3 150 20 1
*IVAN 4K2 5DXN-2  -300 -40 1 *OVABN 4 T762 2NE3 4150 20 1
N ~2 ~~~ ¢ A7543 5DXN-3  -500 8.0 1 [|N ~~~~~ v Q3 2CN-3 300 -6.0 1
S ~2~~~ ¢A9% 4SE4 620 100 2 ||S ~ ~~~~ J4 3NE3 600 -11.0 1
E 3~~4~ #0952 E ~3~~2 &T9742
W 3~~4-~ W ~3~~2
# 11 & T9543 4CXN4 510 Mean: 4NXW-3 500 100 1 ||# 12 a3 7NN-2 -200 Mean: 7NS7 2220 17.0 1
v9 3HE3 -140 40  4CXN4 510 10.0 1 v 972 7NN-1-100 600 6SS6 1430 130 1
+ A8 Dif: 650 NS:10 4HXW-2 300 6.0 1 ¢ KJT9 Dif: -100 NS:-13 6NS7 1470 130 1
& AQJ52 IMP: 12 EW:5 3CN5 150 3.0 1 & AQ752 IMP: -3 EW:12 6NS6 1440 130 1
» K87 ~ AQJ6 3CN4 130 3.0 1 [|a2 ~ T9875 3NS7 720 3.0 3
v QJT853 v 74 3HE-2 100 20 1 || J653 v QT8 3NS6 690 3.0 1
¢ T96 + KQ54 2SN-1 -50 3.0 1 ¢ 8752 + Q643 7581 -100 -12.0 1
a7 » KT6 2SN-2 100 -40 1 ||a& JT93 a8 7NS-1 100 120 1
®OVAN 4,2 2HE2 110 -40 1 % ¢ VAN 4 AKQJ64 7NN-1 100 -12.0 1
N 4 ~ ~ ~ ~ ¢ AK62 3HW3 140 50 1|IN 6 ~~66 v AK4 7NS-2 200 130 2
S 3~~~ ~ ¢J732 3HE3 140 50 2||S 6~~66 ¢A 7NN-2 200 -13.0 1
E ~~11~ #9843 2HW3 140 50 1
W~~11~ 2SN-4 200 -6.0 1
#13 a7 4SW-1 100 Mean: 4SXW-1 200 3.0 1 # 14 & AT94 4HE4 -420 Mean: 4HW4 420 00 3
v AT743 4SW-1100 110  2HN3 140 1.0 1 v KJ 3NW5 -460 -420 4HE4 420 00 7
+ AK54 Dif: 0 NS:0 4Sw-1 100 0.0 11 + Q8 Dif: 40 NS:0 3NE4 430 0.0 1
» 964 IMP: 0 EW:0 4SE-1 100 00 1 & QT762 IMP: 1 EW:1 4HW5 450 1.0 2
# T9652 ] » AQJ3 s 32 » KQJ 3NW5 -460 1.0 1
v J2 v KQ v A63 v Q9874
°T7 + * J932 + AK5  T74
& KQ82 » AJ5 & AJ943 » K8
oo VAN 4o K84 o ¢ VAN 4, 8765
N ~11~~ »9865 N ~~~~~ T52
S ~11~~ +Q86 S ~~~~~ + J9632
E 3~~3~ &T73 E 3~4~4 &5
W 3~~3~ W 3~4~4
# 15 » 543 1HN-1 -100 Mean: 1NS1 90 60 2 ||#16 & KT852 3CS-1-50 Mean: 2CXN3 280 8.0 1
v 9874 2HS-2 -200 -160  3NW-1 50 50 1 v T2 2CXN3 280 -60  3DE-2 200 6.0 1
¢ A74 Dif: 100 NS:2 2DE2 90 20 1 T Dif: -330 NS:0 2SE-1 100 40 2
& 965 IMP: 3 EW:1 1NS-1 4100 20 1 & 76543 IMP: -8 EW:-8 1HW-1 100 40 1
& AT76 ~ 982 1NE1 90 20 1 ||aAJ ~ Q9643 3NS-1 50 00 1
v K652 vJ 1HS-1 4100 20 1 ||e KJ973 — v 6 3CS-1 50 0.0 1
* QJ3 + K652 1HN-1 100 20 1 ||e A753 * J964 2CN-1 50 00 1
& KT » AJ743 2sW3 4140 1.0 1 ||s Q8 » KJ2 2DW2 9 1.0 1
eV AN ,KQJ 1NE2 4120 1.0 1 FOVAN o7 2DW4 4130 20 1
N ~~~~~ v AQT3 2HS-2 200 10 1[N 2~~~ ~ o AQ854 2DW3 410 20 1
S ~~~~~ ¢ T98 3HN-3 300 -40 1||S 2~~~ ~ ¢ KQ82 2SN-3 150 -3.0 1
E 33~31 Q82 2HXS-2 500 -80 1||E ~2~11 &AT9 3CXN-2 300 -6.0 1
W 33~31 1CXS-3 800 120 1 ||wW ~2~11 3NXS-4 800 -12.0 1
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#1: 11 REZ5(37.5) #2: 13 LEI(ZS 13) #3: 4 IJ_I/E(ZS 95)

5 NS: E5iH BREESE(EAC) 8 2 NS: k3L & Z$EZ(FHO) 21 P:| 914 : 10.86| Total VP: 12.91 Rank:
EW: BEEF L2 (EI0) 21 EW: Ep & S EA(BAC) -8 IMP:| 18 : 20 12
o —
#9 85 2SE4 170 Mean: 4HW-4 400 110 1 [[# 10 s A95 2NE3 150 Mean: 3NW-2 200 7.0 1
v Q2 5DXN-3 500 -150 4SE-2 200 80 1 v KT962 2NW3 150 -80  3NE-1 100 50 1
+ KJT864 Dif: -330 NS:-8 5SE-1 100 6.0 1 + KQ8 Dif: 0 NS:-2 2NW-1 100 50 3
» QT8 IMP: -8 EW:1 4SE-1 100 6.0 1 » Q8 IMP: 0 EW:2 2DE2 90 00 1
s T93 » AQJ764 3SE3 140 00 1 ||s 43 » KQJ8 2CW2 -90 00 1
v KJ96 eT 2SE3 140 00 1 ||v J874 _I_ v A5 3DW3 110 1.0 2
7 — ¢ Q32 3SE4 470 1.0 3 ||e A732 * T965 2NW2 120 1.0 1
& AJ643 » K7 2SE4 470 1.0 1 ||a AK3 # J65 2NW3 150 20 1
*IVAN 4K2 5DXN-2  -300 -40 1 *OVABN 4 T762 2NE3 4150 20 1
N ~2 ~~~ ¢ A7543 5DXN-3  -500 8.0 1 [|N ~~~~~ v Q3 2CN-3 300 -6.0 1
S ~2~~~ ¢A9% 4SE4 620 100 2 ||S ~~~~~ ¢ J4 3NE3 600 -11.0 1
E 3~~4~ #952 E ~3~~2 &T9742
W 3~~4-~ W ~3~~2
# 11 & T9543 4NXW-3 -500 Mean: 4NXW-3 500 100 1 ||# 12 a3 6SS6 -1430 Mean: 7NS7 2220 17.0 1
v9 3HE3140 40  4CXN4 510 10.0 1 v 972 7NS7 -2220 600  6SS6 1430 130 1
+ A8 Dif: -640 NS:-5 4HXW-2 300 6.0 1 ¢ KJT9 Dif: 790 NS:17 6NS7 1470 130 1
& AQJ52 IMP: -12 EW:-10 3CN5 150 3.0 1 & AQ752 IMP: 13 EW:-13 6NS6 1440 130 1
» K87 ~ AQJ6 3CN4 130 3.0 1 [|a2 ~ T9875 3NS7 720 3.0 3
v QJT853 v 74 3HE-2 100 20 1 || J653 v QT8 3NS6 690 3.0 1
¢ T96 + KQ54 2SN-1 -50 3.0 1 ¢ 8752 + Q643 7581 -100 -12.0 1
a7 » KT6 2SN-2 100 -40 1 ||a& JT93 a8 7NS-1 100 120 1
®OVAN 4,2 2HE2 110 -40 1 % ¢ VAN 4 AKQJ64 7NN-1 100 -12.0 1
N 4 ~ ~ ~ ~ ¢ AK62 3HW3 140 50 1|IN 6 ~~66 v AK4 7NS-2 200 130 2
S 3~~~ ~ ¢J732 3HE3 140 50 2||S 6~~66 ¢A 7NN-2 200 -13.0 1
E ~~11~ #9843 2HW3 140 50 1
W~~11~ 2SN-4 200 -6.0 1
#13 a7 4SW-1 -100 Mean: 4SXW-1 200 3.0 1 # 14 & AT94 4HE4 420 Mean: 4HW4 420 00 3
v AT743 4SW-1-100 110  2HN3 140 1.0 1 v KJ 4HW4 420 -420 4HE4 420 00 7
+ AK54 Dif: 0 NS:0 4Sw-1 100 0.0 11 + Q8 Dif: 0 NS:0 3NE4 430 0.0 1
» 964 IMP: 0 EW:0 4SE-1 100 00 1 & QT762 IMP: 0 EW:0 4HW5 450 1.0 2
# T9652 ] » AQJ3 s 32 » KQJ 3NW5 -460 1.0 1
v J2 v KQ v A63 v Q9874
°T7 + * J932 + AK5  T74
& KQ82 » AJ5 & AJ943 & K8
oo VAN 4o K84 o ¢ VAN 4, 8765
N ~11~~ 99865 N ~~~~~ v T52
S ~11~~ +Q86 S ~~~~~ o J9632
E 3~~3~ &T73 E 3~4~4 a5
W 3~~3~ W 3~4~4
# 15 » 543 2SW3 140 Mean: 1NS1 90 60 2 ||#16 & KT852 3NS-150 Mean: 2CXN3 280 8.0 1
v 9874 1NS-1 100 -160  3NW-1 50 50 1 v T2 2SE-1-100 -60  3DE-2 200 6.0 1
¢ A74 Dif: 40 NS:2 2DE2 90 20 1 T Dif: 150 NS:4 2SE-1 100 40 2
& 965 IMP: 1 EW:-1  1NS-1 4100 20 1 & 76543 IMP: 4 EW:0 1HW-1 100 40 1
& AT76 ~ 982 1NE1 90 20 1 ||aAJ ~ Q9643 3NS-1 50 00 1
v K652 vJ 1HS-1 4100 20 1 ||e KJ973 — v6 3CS-1 50 0.0 1
* QJ3 + K652 1HN-1 100 20 1 ||e A753 * J964 2CN-1 50 00 1
& KT » AJ743 2sW3 4140 1.0 1 ||s Q8 » KJ2 2DW2 9 1.0 1
eV AN ,KQJ 1NE2 4120 1.0 1 FOVAN o7 2DW4 4130 20 1
N ~~~~~ v AQT3 2HS-2 200 10 1[N 2~~~ ~ o AQ854 2DW3 410 20 1
S ~~~~~ ¢ T98 3HN-3 300 -40 1||S 2~~~ ~ ¢ KQ82 2SN-3 150 -3.0 1
E 33~31 Q82 2HXS-2 500 -80 1||E ~2~11 &AT9 3CXN-2 300 -6.0 1
W 33~31 1CXS-3 800 120 1 ||wW ~2~11 3NXS-4 800 -12.0 1




112 FX§ >2FMHBERF R

w ==> R2

#1: 11 REZ5(37.5) #2: 13 LEI(ZS 13) #3 4 IJ_I/E(ZS 95)

6 NS: S BRIEHT(BHO) -15 9 NS: R#S ZLZE(BAC) 5 4.50 15.50 | Total VP: 20.73 Rank:
EW: BEESZ FENFEEAC) -5 EW: EEBNE Bk =(BAO) 15 IMP:| 14 30 6
—
#9 85 4SE-2 200 Mean: 4HW-4 400 110 1 [[# 10 s A95 2NW-1 100 Mean: 3NW-2 200 7.0 1
v Q2 3SE4 -170 -150  4SE-2 200 80 1 v KT962 2DE2-90 -80  3NE-1 100 50 1
+ KJT864 Dif: 370 NS:8 5SE-1 100 6.0 1 + KQ8 Dif: 190 NS:5 2NW-1 100 50 3
» QT8 IMP: 9 EW:1 4SE-1 100 6.0 1 » Q8 IMP: 5 EW:0 2DE2 90 00 1
s T93 » AQJ764 3SE3 140 00 1 ||s 43 » KQJ8 2CW2 -90 00 1
v KJ96 v T8 2SE3 140 00 1 ||v J874 _I_ v A5 3DW3 110 1.0 2
7 — ¢ Q32 3SE4 470 1.0 3 ||e A732 * T965 2NW2 120 1.0 1
& AJ643 » K7 2SE4 470 1.0 1 ||a AK3 # J65 2NW3 150 20 1
*IVAN 4K2 5DXN-2  -300 -40 1 *OVABN 4 T762 2NE3 4150 20 1
N ~2 ~~~ ¢ A7543 5DXN-3  -500 8.0 1 [|N ~~~~~ v Q3 2CN-3 300 -6.0 1
S ~2~~~ ¢A9% 4SE4 620 100 2 ||S ~ ~~~~ J4 3NE3 600 -11.0 1
E 3~~4~ #0952 E ~3~~2 &T9742
W 3~~4-~ W ~3~~2
# 11 & T9543 3HW3 -140 Mean: 4NXW-3 500 10.0 1 ||# 12 a3 7NS-2 -200 Mean: 7NS7 2220 17.0 1
v9 2HW3 -140 40 4CXN4 510 100 1 v 972 3NS6 690 600  6SS6 1430 130 1
+ A8 Dif: 0 NS:-5 4HXW-2 300 6.0 1 ¢ KJT9 Dif: -890 NS:-13 6NS7 1470 130 1
& AQJ52 IMP: 0 EW:5 3CN5 150 3.0 1 & AQ752 IMP: -13 EW:-3 6NS6 1440 130 1
» K87 ~ AQJ6 3CN4 130 3.0 1 ||a2 ~ T9875 3NS7 720 3.0 3
v QJT853 v 74 3HE-2 100 20 1 || J653 v QT8 3NS6 690 3.0 1
¢ T96 + KQ54 2SN-1 -50 3.0 1 ¢ 8752 + Q643 7581 -100 -12.0 1
a7 » KT6 2SN-2 100 -40 1 ||a& JT93 a8 7NS-1 100 120 1
®OVAN 4,2 2HE2 110 -40 1 % ¢ VAN 4 AKQJ64 7NN-1 100 -12.0 1
N 4 ~ ~ ~ ~ ¢ AK62 3HW3 140 50 1|IN 6 ~~66 v AK4 7NS-2 200 130 2
S 3~~~ ~ ¢J732 3HE3 140 50 2||S 6~~66 ¢A 7NN-2 200 -13.0 1
E ~~11~ #9843 2HW3 140 50 1
W~~11~ 2SN-4 200 -6.0 1
#13 a7 4SW-1 100 Mean: 4SXW-1 200 3.0 1 # 14 & AT94 4HE4 -420 Mean: 4HW4 420 00 3
v AT743 4SE-1100 110  2HN3 140 1.0 1 v KJ 4HE4 -420 -420  4HE4 420 00 7
+ AK54 Dif: 0 NS:0 4Sw-1 100 0.0 11 + Q8 Dif: 0 NS:0 3NE4 430 0.0 1
» 964 IMP: 0 EW:0 4SE-1 100 00 1 & QT762 IMP: 0 EW:0 4HW5 450 1.0 2
# T9652 \ & AQJ3 s 32 » KQJ 3NW5 -460 1.0 1
v J2 v KQ v A63 v Q9874
°T7 + * J932 + AK5  T74
& KQ82 » AJ5 & AJ943 » K8
oo VAN 4o K84 o ¢ VAN 4, 8765
N ~11~~ »9865 N ~~~~~ T52
S ~11~~ +Q86 S ~~~~~ o J9632
E 3~~3~ &T73 E 3~4~4 &5
W 3~~3~ W 3~4~4
# 15 » 543 2HXS-2 -500 Mean: 1NS1 90 60 2 ||#16 & KT852 2DW4 -130 Mean: 2CXN3 280 8.0 1
v 9874 1HS-1-100 -160  3NW-1 50 50 1 v T2 3DE-2200 -60  3DE-2 200 6.0 1
¢+ A74 Dif: -400 NS:-8 2DE2 90 20 1 T Dif: -330 NS:-2 2SE-1 100 40 2
& 965 IMP: -9 EW:-2 1NS-1 4100 20 1 & 76543 IMP: -8 EW:-6 1HW-1 100 40 1
& AT76 ~ 982 1NE1 90 20 1 ||aAJ ~ Q9643 3NS-1 50 00 1
v K652 vJ 1HS-1 4100 20 1 ||e KJ973 — v6 3CS-1 50 0.0 1
* QJ3 + K652 1HN-1 100 20 1 ||e A753 * J964 2CN-1 50 00 1
& KT » AJ743 2sW3 4140 1.0 1 ||s Q8 » KJ2 2DW2 9 1.0 1
eV AN ,KQJ 1NE2 4120 1.0 1 FOVAN o7 2DW4 4130 20 1
N ~~~~~ v AQT3 2HS-2 200 10 1[N 2~~~ ~ o AQ854 2DW3 410 20 1
S ~~~~~ ¢ T98 3HN-3 300 -40 1||S 2~~~ ~ ¢ KQ82 2SN-3 150 -3.0 1
E 33~31 Q82 2HXS-2 500 -80 1||E ~2~11 &AT9 3CXN-2 300 -6.0 1
W 33~31 1CXS-3 800 120 1 ||wW ~2~11 3NXS-4 800 -12.0 1




112 FX§ >2FMHBERF R

w ==> R2

#1: 11 REZ5(37.5) #2: 13 LEI(ZS 13) #3 4 IJ_I/E(ZS 95)

7 NS: BRfftE SRiEREEAC) -7 4 NS: 828X BS4#(BO) -1 8.73 11.27 | Total VP: 18.73 Rank:
EW: =& BEZEEEHO) 1 EW: MER B%HEIZEEBIC) 7 IMP:| 20 23 8
o
#9 85 4SE-1-100 Mean: 4HW-4 400 110 1 [[# 10 s A95 2CN-3 300 Mean: 3NW-2 200 7.0 1
v Q2 3SE4 170 -150  4SE-2 200 80 1 v KT962 2NW-1-100 -80  3NE-1 100 50 1
+ KJT864 Dif: -270 NS:-1 5SE-1 100 6.0 1 + KQ8 Dif: 400 NS:5 2NW-1 100 50 3
» QT8 IMP: -7 EW:-6 4SE-1 100 6.0 1 » Q8 IMP: 9 EW:6 2DE2 90 00 1
s T93 » AQJ764 3SE3 140 00 1 ||s 43 » KQJ8 2CW2 -90 00 1
v KJ96 v T8 2SE3 140 00 1 ||v J874 _I_ v A5 3DW3 110 1.0 2
7 — ¢ Q32 3SE4 170 1.0 3 ||e A732 + T965 2NW2 120 1.0 1
& AJ643 » K7 2SE4 470 1.0 1 ||a AK3 # J65 2NW3 150 20 1
*IVAN 4K2 5DXN-2  -300 -40 1 *OVABN 4 T762 2NE3 4150 20 1
N ~2 ~~~ ¢ A7543 5DXN-3  -500 8.0 1 [|N ~~~~~ v Q3 2CN-3 300 -6.0 1
S ~2~~~ ¢A9% 4SE4 620 100 2 ||S ~ ~~~~ J4 3NE3 600 -11.0 1
E 3~~4~ #0952 E ~3~~2 &T9742
W 3~~4-~ W ~3~~2
# 11 & T9543 4CXN4 -510 Mean: 4NXW-3 500 100 1 ||# 12 a3 7NN-2 200 Mean: 7NS7 2220 17.0 1
v9 3HE3140 40  4CXN4 510 10.0 1 v 972 7NN-1 100 600 6SS6 1430 130 1
+ A8 Dif: -650 NS:-5 4HXW-2 300 6.0 1 ¢ KJT9 Dif: 100 NS:-12 6NS7 1470 130 1
& AQJ52 IMP: -12 EW:-10 3CN5 150 3.0 1 & AQ752 IMP: 3 EW:13 6NS6 1440 130 1
» K87 ~ AQJ6 3CN4 130 3.0 1 ||a2 ~ T9875 3NS7 720 3.0 3
v QJT853 v 74 3HE-2 100 20 1 || J653 v QT8 3NS6 690 3.0 1
¢ T96 + KQ54 2SN-1 -50 3.0 1 ¢ 8752 + Q643 7581 -100 -12.0 1
a7 » KT6 2SN-2 100 -40 1 ||a& JT93 a8 7NS-1 100 120 1
®OVAN 4,2 2HE2 110 -40 1 % ¢ VAN 4 AKQJ64 7NN-1 100 -12.0 1
N 4 ~ ~ ~ ~ ¢ AK62 3HW3 140 50 1|IN 6 ~~66 v AK4 7NS-2 200 130 2
S 3~~~ ~ ¢J732 3HE3 140 50 2||S 6~~66 ¢A 7NN-2 200 -13.0 1
E ~~11~ #9843 2HW3 140 50 1
W~~11~ 2SN-4 200 -6.0 1
#13 a7 4SW-1 -100 Mean: 4SXW-1 200 3.0 1 # 14 & AT94 4HE4 420 Mean: 4HW4 420 00 3
v AT743 4SW-1-100 110  2HN3 140 1.0 1 v KJ 3NW5 460 -420 4HE4 420 00 7
+ AK54 Dif: 0 NS:0 4Sw-1 100 0.0 11 + Q8 Dif: -40 NS:-1 3NE4 430 0.0 1
» 964 IMP: 0 EW:0 4SE-1 100 00 1 & QT762 IMP: -1 EW:0 4HW5 450 1.0 2
# T9652 \ & AQJ3 s 32 » KQJ 3NW5 -460 1.0 1
v J2 v KQ v A63 v Q9874
°T7 + * J932 + AK5  T74
& KQ82 » AJ5 & AJ943 » K8
oo VAN 4o K84 o ¢ VAN 4, 8765
N ~11~~ »9865 N ~~~~~ T52
S ~11~~ +Q86 S ~~~~~ o J9632
E 3~~3~ &T73 E 3~4~4 &5
W 3~~3~ W 3~4~4
# 15 » 543 1HN-1 100 Mean: 1NS1 90 60 2 ||#16 & KT852 3CS-150 Mean: 2CXN3 280 8.0 1
v 9874 2HS-2 200 -160  3NW-1 50 50 1 v T2 2CXN3 -280 -60  3DE-2 200 6.0 1
¢+ A74 Dif: -100 NS:-1 2DE2 90 20 1 T Dif: 330 NS:8 2SE-1 100 40 2
& 965 IMP: -3 EW:-2 1NS-1 4100 20 1 & 76543 IMP: 8 EW:0 1HW-1 100 40 1
& AT76 ~ 982 1NE1 90 20 1 ||aAJ ~ Q9643 3NS-1 50 00 1
v K652 vJ 1HS-1 4100 20 1 ||e KJ973 — v6 3CS-1 50 0.0 1
* QJ3 + K652 1HN-1 100 20 1 ||e A753 * J964 2CN-1 50 00 1
& KT » AJ743 2sW3 4140 1.0 1 ||s Q8 » KJ2 2DW2 9 1.0 1
eV AN ,KQJ 1NE2 4120 1.0 1 FOVAN o7 2DW4 4130 20 1
N ~~~~~ v AQT3 2HS-2 200 10 1[N 2~~~ ~ o AQ854 2DW3 410 20 1
S ~~~~~ ¢ T98 3HN-3 300 -40 1||S 2~~~ ~ ¢ KQ82 2SN-3 150 -3.0 1
E 33~31 Q82 2HXS-2 500 -80 1||E ~2~11 &AT9 3CXN-2 300 -6.0 1
W 33~31 1CXS-3 800 120 1 ||wW ~2~11 3NXS-4 800 -12.0 1




112 FX§ >2FMHBERF R

w ==> R2

#1: 11 REZ5(37.5) #2: 13 LEI(ZS 13) #3 4 IJ_I/E(ZS 95)

8 NS: BRIEEE SEEHO) -31 1 1 NS: BRZEE FIEB(BAC) 18 0.00 20.00 | Total VP: 10.00 Rank:
EW: ZEZE #HHFEEIC) -18 EW: ERFfZ STRM(BAO) 31 IMP:| 0 ;43 14
— -
#9 85 4SE4 -620 Mean: 4HW-4 400 110 1 [[# 10 s A95 3NE3 -600 Mean: 3NW-2 200 7.0 1
v Q2 2SE3 -140 -150  4SE-2 200 80 1 v KT962 3NE-1100 -80  3NE-1 100 50 1
+ KJT864 Dif: -480 NS:-10 5SE-1 100 6.0 1 + KQ8 Dif: -700 NS:-11 2NW-1 100 50 3
» QT8 IMP: -10 EW:0 4SE-1 100 6.0 1 » Q8 IMP: -12 EW:-5 2DE2 90 00 1
s T93 » AQJ764 3SE3 140 00 1 ||s 43 » KQJ8 2CW2 -90 00 1
v KJ96 v T8 2SE3 140 00 1 ||w J874 _I_ v A5 3DW3 110 1.0 2
7 — ¢ Q32 3SE4 470 1.0 3 ||e A732 * T965 2NW2 120 1.0 1
& AJ643 » K7 2SE4 470 1.0 1 ||a AK3 # J65 2NW3 150 20 1
*IVAN 4K2 5DXN-2  -300 -40 1 *OVABN 4 T762 2NE3 4150 20 1
N ~2 ~~~ ¢ A7543 5DXN-3  -500 8.0 1 [|N ~~~~~ v Q3 2CN-3 300 -6.0 1
S ~2~~~ ¢A9% 4SE4 620 100 2 ||S ~ ~~~~ J4 3NE3 600 -11.0 1
E 3~~4~ #0952 E ~3~~2 &T9742
W 3~~4-~ W ~3~~2
# 11 & T9543 2SN-4 -200 Mean: 4NXW-3 500 10.0 1 ||# 12 a3 3NS7 720 Mean: 7NS7 2220 17.0 1
v9 3CN5150 40 4CXN4 510 100 1 v 972 3NS7 720 600 6SS6 1430 130 1
+ A8 Dif: -350 NS:-6 4HXW-2 300 6.0 1 ¢ KJT9 Dif: 0 NS:3 6NS7 1470 130 1
& AQJ52 IMP: -8 EW:-3 3CN5 150 3.0 1 & AQ752 IMP: 0 EW:-3 6NS6 1440 130 1
» K87 ~ AQJ6 3CN4 130 3.0 1 ||a2 ~ T9875 3NS7 720 3.0 3
v QJT853 v 74 3HE-2 100 20 1 || J653 v QT8 3NS6 690 3.0 1
¢ T96 + KQ54 2SN-1 -50 3.0 1 ¢ 8752 + Q643 7581 -100 -12.0 1
a7 » KT6 2SN-2 100 -40 1 ||a& JT93 a8 7NS-1 100 120 1
®OVAN 4,2 2HE2 110 -40 1 % ¢ VAN 4 AKQJ64 7NN-1 100 -12.0 1
N 4 ~ ~ ~ ~ ¢ AK62 3HW3 140 50 1|IN 6 ~~66 v AK4 7NS-2 200 130 2
S 3~~~ ~ ¢J732 3HE3 140 50 2||S 6~~66 ¢A 7NN-2 200 -13.0 1
E ~~11~ #9843 2HW3 140 50 1
W~~11~ 2SN-4 200 -6.0 1
#13 a7 4SW-1 100 Mean: 4SXW-1 200 3.0 1 # 14 & AT94 3NE4 -430 Mean: 4HW4 420 00 3
v AT743 2HN3 140 110  2HN3 140 1.0 1 v KJ 4HE4 -420 -420  4HE4 420 00 7
+ AK54 Dif: -40 NS:0 4sw-1 100 0.0 11 + Q8 Dif: -10 NS:0 3NE4 430 0.0 1
» 964 IMP: -1 EW:-1 4SE-1 100 00 1 & QT762 IMP: 0 EW:0 4HW5 450 1.0 2
# T9652 \ & AQJ3 s 32 » KQJ 3NW5 -460 1.0 1
v J2 v KQ v A63 v Q9874
°T7 + * J932 + AK5  T74
& KQ82 » AJ5 & AJ943 » K8
oo VAN 4o K84 o ¢ VAN 4, 8765
N ~11~~ »9865 N ~~~~~ T52
S ~11~~ +Q86 S ~~~~~ o J9632
E 3~~3~ &T73 E 3~4~4 &5
W 3~~3~ W 3~4~4
# 15 » 543 3HN-3 -300 Mean: 1NS1 90 60 2 ||#16 & KT852 2SN-3 -150 Mean: 2CXN3 280 8.0 1
v 9874 1NS190 -160  3NW-1 50 50 1 v T2 2CN-1-50 -60  3DE-2 200 6.0 1
¢+ A74 Dif: -390 NS:-4 2DE2 90 20 1 T Dif: -100 NS:-3 2SE-1 100 40 2
& 965 IMP: -9 EW:-6 1NS-1 4100 20 1 & 76543 IMP: -3 EW:0 1HW-1 100 40 1
& AT76 ~ 982 1NE1 90 20 1 ||aAJ ~ Q9643 3NS-1 50 00 1
v K652 vJ 1HS-1 4100 20 1 ||e KJ973 — v6 3CS-1 50 0.0 1
* QJ3 + K652 1HN-1 100 20 1 ||e A753 * J964 2CN-1 50 00 1
& KT » AJ743 2sW3 4140 1.0 1 ||s Q8 » KJ2 2DW2 9 1.0 1
eV AN ,KQJ 1NE2 4120 1.0 1 FOVAN o7 2DW4 4130 20 1
N ~~~~~ v AQT3 2HS-2 200 10 1[N 2~~~ ~ o AQ854 2DW3 410 20 1
S ~~~~~ ¢ T98 3HN-3 300 -40 1||S 2~~~ ~ ¢ KQ82 2SN-3 150 -3.0 1
E 33~31 Q82 2HXS-2 500 -80 1||E ~2~11 &AT9 3CXN-2 300 -6.0 1
W 33~31 1CXS-3 800 120 1 ||wW ~2~11 3NXS-4 800 -12.0 1




112 FX§ >2FMHBERF R

w ==> R2

#1: 11 REZ5(37.5) #2: 13 LEI(ZS 13) #3 4 IJ_I/E(ZS 95)

9 NS: B R 2255 EC) 5 6 NS: #iRREA BRZEH(BAO) -14 15.50 : 4.50 Total VP: 17.29 Rank:
EW: BEEIEE ¥fsk=(BHO) 15 EW: RE X B335(BAC) -5 IMP:| 30 14 10
o
#9 85 4SE-2 -200 Mean: 4HW-4 400 110 1 [[# 10 s A95 2NW-1 -100 Mean: 3NW-2 200 7.0 1
v Q2 3SE4 170 -150  4SE-2 200 80 1 v KT962 2DE290 -80  3NE-1 100 50 1
+ KJT864 Dif: -370 NS:-1 5SE-1 100 6.0 1 + KQ8 Dif: 190 NS:0 2NW-1 100 50 3
» QT8 IMP: -9 EW:-8 4SE-1 100 6.0 1 » Q8 IMP: -5 EW:-5 2DE2 90 00 1
s T93 » AQJ764 3SE3 140 00 1 ||s 43 » KQJ8 2CW2 -90 00 1
v KJ96 v T8 2SE3 140 00 1 ||w J874 _I_ v A5 3DW3 110 1.0 2
7 — ¢ Q32 3SE4 170 1.0 3 ||e A732 + T965 2NW2 120 1.0 1
& AJ643 » K7 2SE4 470 1.0 1 ||a AK3 # J65 2NW3 150 20 1
*IVAN 4K2 5DXN-2  -300 -40 1 *OVABN 4 T762 2NE3 4150 20 1
N ~2 ~~~ ¢ A7543 5DXN-3  -500 8.0 1 [|N ~~~~~ v Q3 2CN-3 300 -6.0 1
S ~2~~~ ¢A9% 4SE4 620 100 2 ||S ~ ~~~~ J4 3NE3 600 -11.0 1
E 3~~4~ #0952 E ~3~~2 &T9742
W 3~~4-~ W ~3~~2
# 11 & T9543 3HW3 140 Mean: 4NXW-3 500 10.0 1 ||# 12 a3 7NS-2 200 Mean: 7NS7 2220 17.0 1
v9 2HW3 140 40 4CXN4 510 100 1 v 972 3NS6 -690 600  6SS6 1430 130 1
+ A8 Dif: 0 NS:-5 4HXW-2 300 6.0 1 ¢ KJT9 Dif: 890 NS:3 6NS7 1470 130 1
& AQJ52 IMP: 0 EW:5 3CN5 150 3.0 1 & AQ752 IMP: 13 EW:13 6NS6 1440 130 1
» K87 ~ AQJ6 3CN4 130 3.0 1 ||a2 ~ T9875 3NS7 720 3.0 3
v QJT853 v 74 3HE-2 100 20 1 || J653 v QT8 3NS6 690 3.0 1
¢ T96 + KQ54 2SN-1 -50 3.0 1 ¢ 8752 + Q643 7581 -100 -12.0 1
a7 » KT6 2SN-2 100 -40 1 ||a& JT93 a8 7NS-1 100 120 1
®OVAN 4,2 2HE2 110 -40 1 % ¢ VAN 4 AKQJ64 7NN-1 100 -12.0 1
N 4 ~ ~ ~ ~ ¢ AK62 3HW3 140 50 1|IN 6 ~~66 v AK4 7NS-2 200 130 2
S 3~~~ ~ ¢J732 3HE3 140 50 2||S 6~~66 ¢A 7NN-2 200 -13.0 1
E ~~11~ #9843 2HW3 140 50 1
W~~11~ 2SN-4 200 -6.0 1
#13 a7 4SW-1-100 Mean: 4SXW-1 200 3.0 1 # 14 & AT94 4HE4 420 Mean: 4HW4 420 00 3
v AT743 4SE-1-100 110  2HN3 140 1.0 1 v KJ 4HE4 420 -420  4HE4 420 00 7
+ AK54 Dif: 0 NS:0 4Sw-1 100 0.0 11 + Q8 Dif: 0 NS:0 3NE4 430 0.0 1
» 964 IMP: 0 EW:0 4SE-1 100 00 1 & QT762 IMP: 0 EW:0 4HW5 450 1.0 2
# T9652 \ & AQJ3 s 32 » KQJ 3NW5 -460 1.0 1
v J2 v KQ v A63 v Q9874
°T7 + * J932 + AK5  T74
& KQ82 » AJ5 & AJ943 » K8
oo VAN 4o K84 o ¢ VAN 4, 8765
N ~11~~ »9865 N ~~~~~ T52
S ~11~~ +Q86 S ~~~~~ o J9632
E 3~~3~ &T73 E 3~4~4 &5
W 3~~3~ W 3~4~4
# 15 » 543 2HXS-2 500 Mean: 1NS1 90 60 2 ||#16 & KT852 2DW4 130 Mean: 2CXN3 280 8.0 1
v 9874 1HS-1100 -160  3NW-1 50 50 1 v T2 3DE-2-200 -60  3DE-2 200 6.0 1
¢+ A74 Dif: 400 NS:2 2DE2 90 20 1 T Dif: 330 NS:6 2SE-1 100 40 2
& 965 IMP: 9 EW:8 1NS-1 4100 20 1 & 76543 IMP: 8 EW:2 1HW-1 100 40 1
& AT76 ~ 982 1NE1 90 20 1 ||aAJ ~ Q9643 3NS-1 50 00 1
v K652 vJ 1HS-1 4100 20 1 ||e KJ973 — v6 3CS-1 50 0.0 1
* QJ3 + K652 1HN-1 100 20 1 ||e A753 * J964 2CN-1 50 00 1
& KT » AJ743 2sW3 4140 1.0 1 ||s Q8 » KJ2 2DW2 9 1.0 1
eV AN ,KQJ 1NE2 4120 1.0 1 FOVAN o7 2DW4 4130 20 1
N ~~~~~ v AQT3 2HS-2 200 10 1[N 2~~~ ~ o AQ854 2DW3 410 20 1
S ~~~~~ ¢ T98 3HN-3 300 -40 1||S 2~~~ ~ ¢ KQ82 2SN-3 150 -3.0 1
E 33~31 Q82 2HXS-2 500 -80 1||E ~2~11 &AT9 3CXN-2 300 -6.0 1
W 33~31 1CXS-3 800 120 1 ||wW ~2~11 3NXS-4 800 -12.0 1




112 FX§ >2FMHBERF R

w ==> R2

#1: 11 REZ5(37.5) #2: 13 LEI(ZS 13) #3 4 IJ_I/E(ZS 95)

1 O NS: RiMM= BEZGHO) -20 1 3 NS: 25T 2% (BAC) 12 3.54 16.46 | Total VP: 21.75 Rank:
EW: R.&885# o[ ZE(EAC) -12 EW: #5518 E15E(BA0) 20 IMP:| 11 31 4
— -
#9 85 5SE-1 100 Mean: 4HW-4 400 110 1 [[# 10 s A95 2CW2 -90 Mean: 3NW-2 200 7.0 1
v Q2 3SE4 -170 -150  4SE-2 200 80 1 v KT962 2NW2 -120 -80  3NE-1 100 50 1
+ KJT864 Dif: 270 NS:6 5SE-1 100 6.0 1 + KQ8 Dif: 30 NS:0 2NW-1 100 50 3
» QT8 IMP: 7 EW:1 4SE-1 100 6.0 1 » Q8 IMP: 1 EW:1 2DE2 90 00 1
s T93 » AQJ764 3SE3 140 00 1 ||s 43 » KQJ8 2CW2 -90 00 1
v KJ96 v T8 2SE3 140 00 1 ||v J874 _I_ v A5 3DW3 110 1.0 2
7 — ¢ Q32 3SE4 170 1.0 3 ||e A732 + T965 2NW2 120 1.0 1
& AJ643 » K7 2SE4 470 1.0 1 ||a AK3 # J65 2NW3 150 20 1
*IVAN 4K2 5DXN-2  -300 -40 1 *OVABN 4 T762 2NE3 4150 20 1
N ~2 ~~~ ¢ A7543 5DXN-3  -500 8.0 1 [|N ~~~~~ v Q3 2CN-3 300 -6.0 1
S ~2~~~ ¢A9% 4SE4 620 100 2 ||S ~ ~~~~ J4 3NE3 600 -11.0 1
E 3~~4~ #0952 E ~3~~2 &T9742
W 3~~4-~ W ~3~~2
# 11 & T9543 2SN-1-50 Mean: 4NXW-3 500 10.0 1 [|# 12 a3 7NS-2 -200 Mean: 7NS7 2220 17.0 1
v9 2HE2 -110 40  4CXN4 510 10.0 1 v 972 6NS7 1470 600  6SS6 1430 130 1
+ A8 Dif: 60 NS:-3 4HXW-2 300 6.0 1 ¢ KJT9 Dif: -1670 NS:-13 6NS7 1470 130 1
& AQJ52 IMP: 2 EW:4 3CN5 150 3.0 1 & AQ752 IMP: -17 EW:-13 6NS6 1440 130 1
» K87 ~ AQJ6 3CN4 130 3.0 1 ||a2 ~ T9875 3NS7 720 3.0 3
v QJT853 v 74 3HE-2 100 20 1 || J653 v QT8 3NS6 690 3.0 1
¢ T96 + KQ54 2SN-1 -50 3.0 1 ¢ 8752 + Q643 7581 -100 -12.0 1
a7 » KT6 2SN-2 100 -40 1 ||a& JT93 a8 7NS-1 100 120 1
®OVAN 4,2 2HE2 110 -40 1 % ¢ VAN 4 AKQJ64 7NN-1 100 -12.0 1
N 4 ~ ~ ~ ~ ¢ AK62 3HW3 140 50 1|IN 6 ~~66 v AK4 7NS-2 200 130 2
S 3~~~ ~ ¢J732 3HE3 140 50 2||S 6~~66 ¢A 7NN-2 200 -13.0 1
E ~~11~ #9843 2HW3 140 50 1
W~~11~ 2SN-4 200 -6.0 1
#13 a7 4SW-1 100 Mean: 4SXW-1 200 3.0 1 # 14 & AT94 4HW4 -420 Mean: 4HW4 420 00 3
v AT743 4SW-1100 110  2HN3 140 1.0 1 v KJ 4HE4 -420 -420  4HE4 420 00 7
+ AK54 Dif: 0 NS:0 4Sw-1 100 0.0 11 + Q8 Dif: 0 NS:0 3NE4 430 0.0 1
» 964 IMP: 0 EW:0 4SE-1 100 00 1 & QT762 IMP: 0 EW:0 4HW5 450 1.0 2
# T9652 \ & AQJ3 s 32 » KQJ 3NW5 -460 1.0 1
v J2 v KQ v A63 v Q9874
°T7 + * J932 + AK5  T74
& KQ82 » AJ5 & AJ943 » K8
oo VAN 4o K84 o ¢ VAN 4, 8765
N ~11~~ »9865 N ~~~~~ T52
S ~11~~ +Q86 S ~~~~~ o J9632
E 3~~3~ &T73 E 3~4~4 &5
W 3~~3~ W 3~4~4
# 15 » 543 1NE1 -90 Mean: 1NS1 90 60 2 ||#16 & KT852 3NXS-4 -800 Mean: 2CXN3 280 8.0 1
v 9874 1NE2 -120 -160  3NW-1 50 50 1 v T2 1HW-1100 -60  3DE-2 200 6.0 1
¢ A74 Dif: 30 NS:2 2DE2 90 20 1 T Dif: -900 NS:-12 2SE-1 100 40 2
& 965 IMP: 1 EW:-1  1NS-1 4100 20 1 & 76543 IMP: -14 EW:-4 1HW-1 100 40 1
& AT76 ~ 982 1NE1 90 20 1 ||aAJ ~ Q9643 3NS-1 50 00 1
v K652 vJ 1HS-1 4100 20 1 ||e KJ973 — v6 3CS-1 50 0.0 1
* QJ3 + K652 1HN-1 100 20 1 ||e A753 * J964 2CN-1 50 00 1
& KT » AJ743 2sW3 4140 1.0 1 ||s Q8 » KJ2 2DW2 9 1.0 1
eV AN ,KQJ 1NE2 4120 1.0 1 FOVAN o7 2DW4 4130 20 1
N ~~~~~ v AQT3 2HS-2 200 10 1[N 2~~~ ~ o AQ854 2DW3 410 20 1
S ~~~~~ ¢ T98 3HN-3 300 -40 1||S 2~~~ ~ ¢ KQ82 2SN-3 150 -3.0 1
E 33~31 Q82 2HXS-2 500 -80 1||E ~2~11 &AT9 3CXN-2 300 -6.0 1
W 33~31 1CXS-3 800 120 1 ||wW ~2~11 3NXS-4 800 -12.0 1




112 FX§ >2FMHBERF R

w ==> R2

#1: 11 REZ5(37.5) #2: 13 LEI(ZS 13) #3 4 IJ_I/E(ZS 95)

1 1 NS: BiZEE #EEEAC) 18 8 NS: BRIE{# #13E(FI0) -31 P:| 20.00 : 0.00 | Total VP: 37.50 Rank:
EW: B TGS 0) 31 EW: ¥E2E #RE(BC) 1 IMP:| 43 0 1
o —
#9 85 4SE4 620 Mean: 4HW-4 400 110 1 [[# 10 s A95 3NE3 600 Mean: 3NW-2 200 7.0 1
v Q2 2SE3 140 -150 4SE-2 200 80 1 v KT962 3NE-1-100 -80  3NE-1 100 50 1
+ KJT864 Dif: 480 NS:0 5SE-1 100 6.0 1 + KQ8 Dif: 700 NS:5 2NW-1 100 50 3
» QT8 IMP: 10 EW:10 4SE-1 100 6.0 1 » Q8 IMP: 12 EW:11 2DE2 90 00 1
s T93 » AQJ764 3SE3 140 00 1 ||s 43 » KQJ8 2CW2 -90 00 1
v KJ96 v T8 2SE3 140 00 1 ||v J874 _I_ v A5 3DW3 110 1.0 2
7 — ¢ Q32 3SE4 170 1.0 3 ||e A732 + T965 2NW2 120 1.0 1
& AJ643 » K7 2SE4 470 1.0 1 ||a AK3 # J65 2NW3 150 20 1
*IVAN 4K2 5DXN-2  -300 -40 1 *OVABN 4 T762 2NE3 4150 20 1
N ~2 ~~~ ¢ A7543 5DXN-3  -500 8.0 1 [|N ~~~~~ v Q3 2CN-3 300 -6.0 1
S ~2~~~ ¢A9% 4SE4 620 100 2 ||S ~ ~~~~ J4 3NE3 600 -11.0 1
E 3~~4~ #952 E ~3~~2 &T9742
W 3~~4-~ W ~3~~2
# 11 & T9543 2SN-4 200 Mean: 4NXW-3 500 10.0 1 [|# 12 a3 3NS7 -720 Mean: 7NS7 2220 17.0 1
v9 3CN5-150 40 4CXN4 510 100 1 v 972 3NS7 -720 600 6SS6 1430 130 1
+ A8 Dif: 350 NS:3 4HXW-2 300 6.0 1 ¢ KJT9 Dif: 0 NS:3 6NS7 1470 130 1
& AQJ52 IMP: 8 EW:6 3CN5 150 3.0 1 & AQ752 IMP: 0 EW:-3 6NS6 1440 130 1
» K87 ~ AQJ6 3CN4 130 3.0 1 ||a2 ~ T9875 3NS7 720 3.0 3
v QJT853 v 74 3HE-2 100 20 1 || J653 v QT8 3NS6 690 3.0 1
¢ T96 + KQ54 2SN-1 -50 3.0 1 ¢ 8752 + Q643 7581 -100 -12.0 1
a7 » KT6 2SN-2 100 -40 1 ||a& JT93 a8 7NS-1 100 120 1
®OVAN 4,2 2HE2 110 -40 1 % ¢ VAN 4 AKQJ64 7NN-1 100 -12.0 1
N 4 ~ ~ ~ ~ ¢ AK62 3HW3 140 50 1|IN 6 ~~66 v AK4 7NS-2 200 130 2
S 3~~~ ~ ¢J732 3HE3 140 50 2||S 6~~66 ¢A 7NN-2 200 -13.0 1
E ~~11~ #9843 2HW3 140 50 1
W~~11~ 2SN-4 200 -6.0 1
#13 a7 4SW-1 -100 Mean: 4SXW-1 200 3.0 1 # 14 & AT94 3NE4 430 Mean: 4HW4 420 00 3
v AT743 2HN3 -140 110  2HN3 140 1.0 1 v KJ 4HE4 420 -420  4HE4 420 00 7
+ AK54 Dif: 40 NS:1  4sw-1 100 0.0 11 + Q8 Dif: 10 NS:0 3NE4 430 0.0 1
» 964 IMP: 1 EW:0 4SE-1 100 00 1 & QT762 IMP: 0 EW:0 4HW5 450 1.0 2
# T9652 \ & AQJ3 s 32 » KQJ 3NW5 -460 1.0 1
v J2 v KQ v A63 v Q9874
°T7 + * J932 + AK5  T74
& KQ82 » AJ5 & AJ943 » K8
oo VAN 4o K84 o ¢ VAN 4, 8765
N ~11~~ »9865 N ~~~~~ T52
S ~11~~ +Q86 S ~~~~~ o J9632
E 3~~3~ &T73 E 3~4~4 &5
W 3~~3~ W 3~4~4
# 15 » 543 3HN-3 300 Mean: 1NS1 90 60 2 ||#16 & KT852 2SN-3 150 Mean: 2CXN3 280 8.0 1
v 9874 1NS1-90 -160  3NW-1 50 50 1 v T2 2CN-150 -60  3DE-2 200 6.0 1
¢+ A74 Dif: 390 NS:6 2DE2 90 20 1 T Dif: 100 NS:0 2SE-1 100 40 2
& 965 IMP: 9 EW:4 1NS-1 4100 20 1 & 76543 IMP: 3 EW:3 1HW-1 100 40 1
& AT76 ~ 982 1NE1 90 20 1 ||aAJ ~ Q9643 3NS-1 50 00 1
v K652 vJ 1HS-1 4100 20 1 ||e KJ973 — v6 3CS-1 50 0.0 1
* QJ3 + K652 1HN-1 100 20 1 ||e A753 * J964 2CN-1 50 00 1
& KT » AJ743 2sW3 4140 1.0 1 ||s Q8 » KJ2 2DW2 9 1.0 1
eV AN ,KQJ 1NE2 4120 1.0 1 FOVAN o7 2DW4 4130 20 1
N ~~~~~ v AQT3 2HS-2 200 10 1[N 2~~~ ~ o AQ854 2DW3 410 20 1
S ~~~~~ ¢ T98 3HN-3 300 -40 1||S 2~~~ ~ ¢ KQ82 2SN-3 150 -3.0 1
E 33~31 Q82 2HXS-2 500 -80 1||E ~2~11 &AT9 3CXN-2 300 -6.0 1
W 33~31 1CXS-3 800 120 1 ||wW ~2~11 3NXS-4 800 -12.0 1




112 FX§ >2FMHBERF R

w ==> R2

#1: 11 REZ5(37.5) #2: 13 LEI(ZS 13) #3 4 IJ_I/E(ZS 95)

1 2 NS: f3{EHE SHFEEGHO) 17 14 NS: ZBigs]l BRER(BAC) -12 15.50 : 4.50 Total VP: 18.00 Rank:
EW: ZEREIR SRE/KEAC) 12 EW: BIEHE L (F0) -1 IMP:| 35 19 9
-
#9 85 4HW-4 400 Mean: 4HW-4 400 110 1 [[# 10 s A95 3DW3 -110 Mean: 3NW-2 200 7.0 1
v Q2 4SE4 -620 -150  4SE-2 200 80 1 v KT962 2NW-1100 -80  3NE-1 100 50 1
+ KJT864 Dif: 1020 NS:11 5SE-1 100 6.0 1 + KQ8 Dif: -210 NS:-1  2NW-1 100 50 3
» QT8 IMP: 14 EW:10 4SE-1 100 6.0 1 » Q8 IMP: -5 EW:-5 2DE2 90 00 1
s T93 » AQJ764 3SE3 140 00 1 ||s 43 » KQJ8 2CW2 -90 00 1
v KJ96 v T8 2SE3 140 00 1 ||v J874 _I_ v A5 3DW3 110 1.0 2
7 — ¢ Q32 3SE4 170 1.0 3 ||e A732 + T965 2NW2 120 1.0 1
& AJ643 » K7 2SE4 470 1.0 1 ||a AK3 # J65 2NW3 150 20 1
*IVAN 4K2 5DXN-2  -300 -40 1 *OVABN 4 T762 2NE3 4150 20 1
N ~2 ~~~ ¢ A7543 5DXN-3  -500 8.0 1 [|N ~~~~~ v Q3 2CN-3 300 -6.0 1
S ~2~~~ ¢A9% 4SE4 620 100 2 ||S ~ ~~~~ J4 3NE3 600 -11.0 1
E 3~~4~ #0952 E ~3~~2 &T9742
W 3~~4-~ W ~3~~2
# 11 & T9543 2SN-2-100 Mean: 4NXW-3 500 10.0 1 ||# 12 a3 6NS6 1440 Mean: 7NS7 2220 17.0 1
v9 4HXW-2 300 40 4CXN4 510 100 1 v 972 7SS-1-100 600 6SS6 1430 130 1
+ A8 Dif: -400 NS:-4 4HXW-2 300 6.0 1 ¢ KJT9 Dif: 1540 NS:13 6NS7 1470 130 1
& AQJ52 IMP: -9 EW:-6 3CN5 150 3.0 1 & AQ752 IMP: 17 EW:12 6NS6 1440 130 1
» K87 ~ AQJ6 3CN4 130 3.0 1 ||a2 ~ T9875 3NS7 720 3.0 3
v QJT853 v 74 3HE-2 100 20 1 || J653 v QT8 3NS6 690 3.0 1
¢ T96 + KQ54 2SN-1 -50 3.0 1 ¢ 8752 + Q643 7581 -100 -12.0 1
a7 » KT6 2SN-2 100 -40 1 ||a& JT93 a8 7NS-1 100 120 1
®OVAN 4,2 2HE2 110 -40 1 % ¢ VAN 4 AKQJ64 7NN-1 100 -12.0 1
N 4 ~ ~ ~ ~ ¢ AK62 3HW3 140 50 1|IN 6 ~~66 v AK4 7NS-2 200 130 2
S 3~~~ ~ ¢J732 3HE3 140 50 2||S 6~~66 ¢A 7NN-2 200 -13.0 1
E ~~11~ #9843 2HW3 140 50 1
W~~11~ 2SN-4 200 -6.0 1
#13 a7 4SW-1 100 Mean: 4SXW-1 200 3.0 1 # 14 & AT94 4HWS5 -450 Mean: 4HWA4 420 00 3
v AT743 4SW-1100 110  2HN3 140 1.0 1 v KJ 4HWS5 -450 -420 4HE4 420 00 7
+ AK54 Dif: 0 NS:0 4Sw-1 100 0.0 11 + Q8 Dif: 0 NS:-1 3NE4 430 0.0 1
» 964 IMP: 0 EW:0 4SE-1 100 00 1 & QT762 IMP: 0 EW:1 4HW5 450 1.0 2
# T9652 \ & AQJ3 s 32 » KQJ 3NW5 -460 1.0 1
v J2 v KQ v A63 v Q9874
°T7 + * J932 + AK5  T74
& KQ82 » AJ5 & AJ943 » K8
oo VAN 4o K84 o ¢ VAN 4, 8765
N ~11~~ »9865 N ~~~~~ T52
S ~11~~ +Q86 S ~~~~~ o J9632
E 3~~3~ &T73 E 3~4~4 &5
W 3~~3~ W 3~4~4
# 15 » 543 3NW-150 Mean: 1NS1 90 60 2 ||#16 & KT852 3CXN-2 -300 Mean: 2CXN3 280 8.0 1
v 9874 2DE2 -90 -160  3NW-1 50 50 1 v T2 2DW3 -110 -60  3DE-2 200 6.0 1
¢+ A74 Dif: 140 NS:5 2DE2 90 20 1 T Dif: -190 NS:-6 2SE-1 100 40 2
& 965 IMP: 4 EW:-2 1NS-1 4100 20 1 & 76543 IMP: -5 EW:2 1HW-1 100 40 1
& AT76 ~ 982 1NE1 90 20 1 ||aAJ ~ Q9643 3NS-1 50 00 1
v K652 vJ 1HS-1 4100 20 1 ||e KJ973 — v6 3CS-1 50 0.0 1
* QJ3 + K652 1HN-1 100 20 1 ||e A753 * J964 2CN-1 50 00 1
& KT » AJ743 2sW3 4140 1.0 1 ||s Q8 » KJ2 2DW2 9 1.0 1
eV AN ,KQJ 1NE2 4120 1.0 1 FOVAN o7 2DW4 4130 20 1
N ~~~~~ v AQT3 2HS-2 200 10 1[N 2~~~ ~ o AQ854 2DW3 410 20 1
S ~~~~~ ¢ T98 3HN-3 300 -40 1||S 2~~~ ~ ¢ KQ82 2SN-3 150 -3.0 1
E 33~31 Q82 2HXS-2 500 -80 1||E ~2~11 &AT9 3CXN-2 300 -6.0 1
W 33~31 1CXS-3 800 120 1 ||wW ~2~11 3NXS-4 800 -12.0 1




112 FX§ >2FMHBERF R

w ==> R2

#1: 11 REZ5(37.5) #2: 13 LEI(ZS 13) #3 4 IJ_I/E(ZS 95)

1 3 NS: 22T EHRZEAC) 12 1 O NS: R50- RE&E(BAO) -2 16.46 : 3.54 Total VP: 28.13 Rank:
EW: HtaEHE {15 EH0) 20 EW: &80 @ E(BAC) 1 IMP:} 31 : 11 2
o I
#9 85 5SE-1-100 Mean: 4HW-4 400 110 1 [[# 10 s A95 2CW2 90 Mean: 3NW-2 200 7.0 1
v Q2 3SE4 170 -150  4SE-2 200 80 1 v KT962 2NW2 120 -80  3NE-1 100 50 1
+ KJT864 Dif: -270 NS:-1 5SE-1 100 6.0 1 + KQ8 Dif: -30 NS:-1  2NW-1 100 50 3
» QT8 IMP: -7 EW:-6 4SE-1 100 6.0 1 » Q8 IMP: -1 EW:0 2DE2 90 00 1
s T93 » AQJ764 3SE3 140 00 1 ||s 43 » KQJ8 2CW2 -90 00 1
v KJ96 v T8 2SE3 140 00 1 ||v J874 _I_ v A5 3DW3 110 1.0 2
7 — ¢ Q32 3SE4 170 1.0 3 ||e A732 + T965 2NW2 120 1.0 1
& AJ643 » K7 2SE4 470 1.0 1 ||a AK3 # J65 2NW3 150 20 1
*IVAN 4K2 5DXN-2  -300 -40 1 *OVABN 4 T762 2NE3 4150 20 1
N ~2 ~~~ ¢ A7543 5DXN-3  -500 8.0 1 [|N ~~~~~ v Q3 2CN-3 300 -6.0 1
S ~2~~~ ¢A9% 4SE4 620 100 2 ||S ~ ~~~~ J4 3NE3 600 -11.0 1
E 3~~4~ #0952 E ~3~~2 &T9742
W 3~~4-~ W ~3~~2
# 11 & T9543 2SN-150 Mean: 4NXW-3 500 10.0 1 ||# 12 a3 7NS-2 200 Mean: 7NS7 2220 17.0 1
v9 2HE2110 40  4CXN4 510 10.0 1 v 972 6NS7 -1470 600  6SS6 1430 130 1
+ A8 Dif: -60 NS:-4 4HXW-2 300 6.0 1 ¢ KJT9 Dif: 1670 NS:13 6NS7 1470 130 1
& AQJ52 IMP: -2 EW:3 3CN5 150 3.0 1 & AQ752 IMP: 17 EW:13 6NS6 1440 130 1
» K87 ~ AQJ6 3CN4 130 3.0 1 ||a2 ~ T9875 3NS7 720 3.0 3
v QJT853 v 74 3HE-2 100 20 1 || J653 v QT8 3NS6 690 3.0 1
¢ T96 + KQ54 2SN-1 -50 3.0 1 ¢ 8752 + Q643 7581 -100 -12.0 1
a7 » KT6 2SN-2 100 -40 1 ||a& JT93 a8 7NS-1 100 120 1
®OVAN 4,2 2HE2 110 -40 1 % ¢ VAN 4 AKQJ64 7NN-1 100 -12.0 1
N 4 ~ ~ ~ ~ ¢ AK62 3HW3 140 50 1|IN 6 ~~66 v AK4 7NS-2 200 130 2
S 3~~~ ~ ¢J732 3HE3 140 50 2||S 6~~66 ¢A 7NN-2 200 -13.0 1
E ~~11~ #9843 2HW3 140 50 1
W~~11~ 2SN-4 200 -6.0 1
#13 a7 4SW-1 -100 Mean: 4SXW-1 200 3.0 1 # 14 & AT94 4HW4 420 Mean: 4HW4 420 00 3
v AT743 4SW-1-100 110  2HN3 140 1.0 1 v KJ 4HE4 420 -420  4HE4 420 00 7
+ AK54 Dif: 0 NS:0 4Sw-1 100 0.0 11 + Q8 Dif: 0 NS:0 3NE4 430 0.0 1
» 964 IMP: 0 EW:0 4SE-1 100 00 1 & QT762 IMP: 0 EW:0 4HW5 450 1.0 2
# T9652 \ & AQJ3 s 32 » KQJ 3NW5 -460 1.0 1
v J2 v KQ v A63 v Q9874
°T7 + * J932 + AK5  T74
& KQ82 » AJ5 & AJ943 » K8
oo VAN 4o K84 o ¢ VAN 4, 8765
N ~11~~ 99865 N ~~~~~ T52
S ~11~~ +Q86 S ~~~~~ o J9632
E 3~~3~ &T73 E 3~4~4 a5
W 3~~3~ W 3~4~4
# 15 » 543 1NE1 90 Mean: 1NS1 90 60 2 ||#16 & KT852 3NXS-4 800 Mean: 2CXN3 280 8.0 1
v 9874 1NE2 120 -160  3NW-1 50 50 1 v T2 1HW-1-100 -60  3DE-2 200 6.0 1
¢ A74 Dif: -30 NS:1 2DE2 90 20 1 T Dif: 900 NS:4 2SE-1 100 40 2
& 965 IMP: -1 EW:-2 1NS-1 4100 20 1 & 76543 IMP: 14 EW:12 1HW-1 100 40 1
& AT76 ~ 982 1NE1 90 20 1 ||aAJ ~ Q9643 3NS-1 50 00 1
v K652 vJ 1HS-1 4100 20 1 ||e KJ973 — v6 3CS-1 50 0.0 1
* QJ3 + K652 1HN-1 100 20 1 ||e A753 * J964 2CN-1 50 00 1
& KT » AJ743 2sW3 4140 1.0 1 ||s Q8 » KJ2 2DW2 9 1.0 1
eV AN ,KQJ 1NE2 4120 1.0 1 FOVAN o7 2DW4 4130 20 1
N ~~~~~ v AQT3 2HS-2 200 10 1[N 2~~~ ~ o AQ854 2DW3 410 20 1
S ~~~~~ ¢ T98 3HN-3 300 -40 1||S 2~~~ ~ ¢ KQ82 2SN-3 150 -3.0 1
E 33~31 Q82 2HXS-2 500 -80 1||E ~2~11 &AT9 3CXN-2 300 -6.0 1
W 33~31 1CXS-3 800 120 1 ||wW ~2~11 3NXS-4 800 -12.0 1




112 FX§ >2FMHBERF R

w ==> R2

#1: 11 BEZZR(37.5) #2: 13 LEl(zs 13) #3 4 m/i(zs 95)

1 4 NS: FiEsl BRE=EIC) -12 1 2 NS: #B{E3E #FER(FO0) 17 4.50 15.50 | Total VP: 12.83 Rank:
EW: EiEHE BEEZ2EHO) -17 EW: ZZ5EI8 213 7K(BAC) 12 IMP:| 19 35 13
-
#9 85 4HW-4 -400 Mean: 4HW-4 400 110 1 [[# 10 s A95 3DW3 110 Mean: 3NW-2 200 7.0 1
v Q2 4SE4 620 -150  4SE-2 200 80 1 v KT962 2NW-1-100 -80  3NE-1 100 50 1
+ KJT864 Dif: 1020 NS:-10 5SE-1 100 6.0 1 + KQ8 Dif: 210 NS:5 2NW-1 100 50 3
» QT8 IMP: -14 EW:-11 4SE-1 100 6.0 1 » Q8 IMP: 5 EW:1 2DE2 90 00 1
s T93 » AQJ764 3SE3 140 00 1 ||s 43 » KQJ8 2CW2 -90 00 1
v KJ96 v T8 2SE3 140 00 1 ||v J874 _I_ v A5 3DW3 110 1.0 2
7 — ¢ Q32 3SE4 170 1.0 3 ||e A732 + T965 2NW2 120 1.0 1
& AJ643 » K7 2SE4 470 1.0 1 ||a AK3 # J65 2NW3 150 20 1
*IVAN 4K2 5DXN-2  -300 -40 1 *OVABN 4 T762 2NE3 4150 20 1
N ~2 ~~~ ¢ A7543 5DXN-3  -500 8.0 1 [|N ~~~~~ v Q3 2CN-3 300 -6.0 1
S ~2~~~ ¢A9% 4SE4 620 100 2 ||S ~ ~~~~ J4 3NE3 600 -11.0 1
E 3~~4~ #0952 E ~3~~2 &T9742
W 3~~4-~ W ~3~~2
# 11 & T9543 2SN-2100 Mean: 4NXW-3 500 10.0 1 ||# 12 a3 6NS6 -1440 Mean: 7NS7 2220 17.0 1
v9 4HXW-2 -300 40 4CXN4 510 100 1 v 972 7SS-1 100 600  6SS6 1430 130 1
+ A8 Dif: 400 NS:6 4HXW-2 300 6.0 1 ¢ KJT9 Dif: -1540 NS:-12 6NS7 1470 130 1
& AQJ52 IMP: 9 EW:4 3CN5 150 3.0 1 & AQ752 IMP: -17 EW:-13 6NS6 1440 130 1
» K87 ~ AQJ6 3CN4 130 3.0 1 ||a2 ~ T9875 3NS7 720 3.0 3
v QJT853 v 74 3HE-2 100 20 1 || J653 v QT8 3NS6 690 3.0 1
¢ T96 + KQ54 2SN-1 -50 3.0 1 ¢ 8752 + Q643 7581 -100 -12.0 1
a7 » KT6 2SN-2 100 -40 1 ||a& JT93 a8 7NS-1 100 120 1
®OVAN 4,2 2HE2 110 -40 1 % ¢ VAN 4 AKQJ64 7NN-1 100 -12.0 1
N 4 ~ ~ ~ ~ ¢ AK62 3HW3 140 50 1|IN 6 ~~66 v AK4 7NS-2 200 130 2
S 3~~~ ~ ¢J732 3HE3 140 50 2||S 6~~66 ¢A 7NN-2 200 -13.0 1
E ~~11~ #9843 2HW3 140 50 1
W~~11~ 2SN-4 200 -6.0 1
#13 a7 4SW-1 -100 Mean: 4SXW-1 200 3.0 1 # 14 & AT94 4HW5 450 Mean: 4HW4 420 00 3
v AT743 4SW-1-100 110  2HN3 140 1.0 1 v KJ 4HWS5 450 -420 4HE4 420 00 7
+ AK54 Dif: 0 NS:0 4Sw-1 100 0.0 11 + Q8 Dif: 0 NS:-1 3NE4 430 0.0 1
» 964 IMP: 0 EW:0 4SE-1 100 00 1 & QT762 IMP: 0 EW:1 4HW5 450 1.0 2
# T9652 \ & AQJ3 s 32 » KQJ 3NW5 -460 1.0 1
v J2 v KQ v A63 v Q9874
°T7 + * J932 + AK5  T74
& KQ82 » AJ5 & AJ943 » K8
oo VAN 4o K84 o ¢ VAN 4, 8765
N ~11~~ »9865 N ~~~~~ T52
S ~11~~ +Q86 S ~~~~~ o J9632
E 3~~3~ &T73 E 3~4~4 &5
W 3~~3~ W 3~4~4
# 15 » 543 3NW-1-50 Mean: 1NS1 90 60 2 ||#16 & KT852 3CXN-2 300 Mean: 2CXN3 280 8.0 1
v 9874 2DE290 -160 3NW-1 50 50 1 v T2 2DW3 110 -60  3DE-2 200 6.0 1
¢+ A74 Dif: -140 NS:2 2DE2 90 20 1 T Dif: 190 NS:-2 2SE-1 100 40 2
& 965 IMP: -4 EW:-5 1NS-1 4100 20 1 & 76543 IMP: 5 EW:6 1HW-1 100 40 1
& AT76 ~ 982 1NE1 90 20 1 ||aAJ ~ Q9643 3NS-1 50 00 1
v K652 vJ 1HS-1 4100 20 1 ||e KJ973 — v6 3CS-1 50 0.0 1
* QJ3 + K652 1HN-1 100 20 1 ||e A753 * J964 2CN-1 50 00 1
& KT » AJ743 2sW3 4140 1.0 1 ||s Q8 » KJ2 2DW2 9 1.0 1
eV AN ,KQJ 1NE2 4120 1.0 1 FOVAN o7 2DW4 4130 20 1
N ~~~~~ v AQT3 2HS-2 200 10 1[N 2~~~ ~ o AQ854 2DW3 410 20 1
S ~~~~~ ¢ T98 3HN-3 300 -40 1||S 2~~~ ~ ¢ KQ82 2SN-3 150 -3.0 1
E 33~31 Q82 2HXS-2 500 -80 1||E ~2~11 &AT9 3CXN-2 300 -6.0 1
W 33~31 1CXS-3 800 120 1 ||wW ~2~11 3NXS-4 800 -12.0 1




